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Sig. of Candidate. Sig. of Invigilator.
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GENERAL MATHEMTICS SSC-I
SECTION - A ]ms 15)
Time allowed: 20 Minutes

NOTE: Section—A is compulsory. All parts of this section are to be anawered on the question paper itself.
It should be completed in the first 20 minutes smd handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1  Circle the correct optioni.e. A/ B/ C/D. Each part carries one mark.
() Lowest form of 75:95is;

A 15:17 B. 15:19 C. 19:15 D. 17:15
(ii) On a crop, produced on artificial resources, Ushr is deducted at the rate of:

A 5% B. 10% | C. 2.5% D. 25%
(ii)  Loss is there when: |

A. Sp=Cp B. Sp<Cp C. Sp=Mp D. Sp>Cp
{iv) The percentage of profitymarkup charged is called:

A Rate B. Time C. Interest D Principle
{v) In the logarithm of a number, the integral part is calted:

A Mantissa B. Reai part C. Charagcteristic D. Decimal part
(vi) For 2,6,11,17,...,a, is:

A 24 B. 30 C. 21 D. 22
(vii) V2+ J3 s not radical, because 2 -+-«/§ is:

A [rrational B. Rational C. Exponent D. Base
(vii)  G.Mbetween -3 and —12 are:

A +6 B. 19 C. +36 D. 13
(ix) (AUB) =?

A AUB B. ANB . C. (ANB) D. ¢
(x) If R={(4,5).(5,4),(5,6),(6,4)}, then range of R is:

A {4} B. {5} C. {6} D. {4.5,6}
(xi) If y=3x  thenfor x=2 we have y="?

A Zero B. 6 C. -3 D. -2
{xii} The perpendicular distance of a point from x-axis is called:

A Ordinate B. Abscissa C. Origin D. Straight line
(xiiy  20% of 600 is:

A, 12 B. 120 C. 20 D. 200
(xiv} D (x,—X)=0 is one of the properties of

A Harmonic Mean B. Geometric Mean

C. Arithmetic Mean D. Mode

n .
{xv) H = —1— is called:
()
A Harmonic Mean B. Mode
C. Average D. Arithmetic Mean
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GENERAL MATHEMATICS SSC-I ;”7

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Attempt any twelve parts from Section ‘B’ and any Four questions from Section ‘C’ on the separately
provided answer hook. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly. Log Table and Graph Paper wilt be provided on demand.

SECTION-B 36
Q.2  Attempt any TWELVE parts. All parts carry equal marks. {(12x3=236)

(i) The price of 15 suits is Rs. 6750 . How many such suits can be purchased by an amount of Rs.4050 .
21
(i) Express in its simplest form g;

(i) Calculate Ushr on a rice crop produced by naturai resources amounting to Rs.6, 00,000
(iv) Find the marked price when, Sp = Rs2400, Discount = 4%
(v) Convert 250 US dollars into sterling pound.

1
(vi) Waseem invests Rs.5000 at SZ% per annum profit compound annually. Find the amount at the end of

the third year.
(vi)  The annual value of a flat is Rs.14,00,000. Find the tax payable at the rate of 16%

(i) Simplify ¥84x 327

3
(ix) Write answer in scientific notation after simplification M

2x10%
(x) Find the specified term (a,,) of the following AP 11,6.1.....,a,
(xi) Insert three gecmetric means between 486 and 6

(xiiy  1f X ={0,3,5} and ¥ ={2,4,8} then establish any three binary relations in X xV

(xiiy  Draw the graph by plotting and join the points A(1,0),B(7,0) and C(1,8) with straight lines.
(xiv) If f(x)= %,4 <x<12 and x is amultiple of 2 , then find the domain and rage of f(x)
(xv)  Evaluate log 200+ log5

(xvi)  Find the standard deviation for the values 2,3,6,8,11

{xvi)  The selling price of 12 articles is equal to the cost price of 15 articles. Find profit percentage.

(xvili)  Three members of a firm divide the profit Rs.67200 among themseives in the ratio 2:3:7 . What is the
biggest share of the profit?

SECTION - C (Marks 38)

Note: Attempt any FOUR questions. All questions carry equal marks. {4 x 6 =24)

Q.3  Ifthe stay of 12 men for 28 days in a hostel costs Rs.6720 . Find the cost for the stay of 8 men for 14 days
in the hotel.

Q.4  Find three consecutive number in a G.P, whose sum is 26 and their product is 216 .

Q.5 The price of a car is Rs.12,50,000 whereas the rate for premium is Rs.4.50% for a tenure of 5 years.

Cailculate the total amount paid as insurance, while depreciation is 10% yearly.
Q.6 fU={123..12}, 4={2,3,4,6,7,8,9,10} and B={2,3,5,7,9} then verify De Morgan's Law.

. . 0.9876x (16.42)
Q.7  Using logarithmic table to evaluate v
(4.567)"
Q.8 Construct a cumulative frequency polygon for the given data:
Classes 5-10 10-15 15-20 |(20-25 |25-30
Frequency 10 15 20 30 15
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